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Question Id : 68634040104 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634040105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, RISl

Options :

686340158401. 1
686340158402. 2
686340158403. 3
686340158404. 4

Question Number : 2 Question Id : 68634040106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R (e Sl &l 3Aa! [ gl
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Options :

686340158405. 1
686340158406. 2
686340158407. 3
686340158408. 4

Question Number : 3 Question Id : 68634040107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :
686340158409. 1
686340158410. 2
686340158411. 3

686340158412. 4

Question Number : 4 Question Id : 68634040108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158413. 1
686340158414.2
686340158415. 3
686340158416. 4

Question Number : 5 Question Id : 68634040109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158417. 1
686340158418.2
686340158419. 3
686340158420. 4

Question Id : 68634040104 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634040105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158401. 1
686340158402. 2
686340158403. 3
686340158404. 4

Question Number : 2 Question Id : 68634040106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340158405. 1
686340158406. 2

686340158407. 3
686340158408. 4

Question Number : 3 Question Id : 68634040107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158409. 1
686340158410. 2
686340158411. 3
686340158412. 4

Question Number : 4 Question Id : 68634040108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340158413. 1
686340158414. 2
686340158415.3
686340158416. 4

Question Number : 5 Question Id : 68634040109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158417, 1

686340158418. 2

686340158419. 3
686340158420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401317
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634040110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158421. 1
686340158422.2
686340158423. 3
686340158424. 4

Question Number : 6 Question Id : 68634040110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340158421. 1
686340158422.2

686340158423.3
686340158424. 4

Question Number : 7 Question Id : 68634040111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2.3d
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Options :

686340158425. 1

686340158426. 2

686340158427. 3
686340158428. 4

Question Number : 7 Question Id : 68634040111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340158425. 1
686340158426. 2
686340158427.3
686340158428. 4

Question Number : 8 Question Id : 68634040112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP TSP I FIY TR ATie® TSR T AR SR I TP IR {11 59 ored | vgad a9 §-

A ASHI
B. HYHRL
C. dlR
D. UTlied
E. 99

- fou T foeodl & ¥ Hel 3Tk &1 94 Sifaw:
1. AT A, B.C
2. HauB.C.D
3. %4 C. D.E
4. FAAA.C.E

Options :

686340158429. 1
686340158430. 2
686340158431. 3
686340158432. 4

Question Number : 8 Question Id : 68634040112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158429. 1
686340158430. 2
686340158431. 3
686340158432. 4

Question Number : 9 Question Id : 68634040113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158433. 1
686340158434. 2
686340158435.3
686340158436. 4

Question Number : 9 Question Id : 68634040113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158433. 1
686340158434. 2
686340158435. 3
686340158436. 4

Question Number : 10 Question Id : 68634040114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158437. 1
686340158438. 2
686340158439. 3
686340158440. 4

Question Number : 10 Question Id : 68634040114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158437. 1
686340158438.2
686340158439. 3
686340158440. 4

Question Number : 11 Question Id : 68634040115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158441. 1
686340158442. 2
686340158443. 3
686340158444. 4

Question Number : 11 Question Id : 68634040115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158441. 1
686340158442. 2
686340158443. 3
686340158444. 4

Question Number : 12 Question Id : 68634040116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158445. 1
686340158446. 2
686340158447. 3
686340158448. 4

Question Number : 12 Question Id : 68634040116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158445. 1
686340158446. 2
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Question Number : 13 Question Id : 68634040117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158449. 1
686340158450. 2
686340158451. 3
686340158452. 4

Question Number : 13 Question Id : 68634040117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158449. 1
686340158450. 2
686340158451. 3
686340158452. 4

Question Number : 14 Question Id : 68634040118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158453. 1
686340158454. 2
686340158455. 3
686340158456. 4

Question Number : 14 Question Id : 68634040118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158453. 1
686340158454. 2
686340158455. 3
686340158456. 4

Question Number : 15 Question Id : 68634040119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158457. 1
686340158458. 2
686340158459. 3
686340158460. 4

Question Number : 15 Question Id : 68634040119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634040120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340158461. 1
686340158462. 2

686340158463. 3
686340158464. 4

Question Number : 16 Question Id : 68634040120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158461. 1
686340158462. 2
686340158463. 3
686340158464. 4

Question Number : 17 Question Id : 68634040121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340158465. 1
686340158466. 2
686340158467.3
686340158468. 4

Question Number : 17 Question Id : 68634040121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340158466.
686340158467.
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Question Number : 18 Question Id : 68634040122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158469. 1
686340158470. 2
686340158471. 3



686340158472. 4

Question Number : 18 Question Id : 68634040122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158469. 1
686340158470. 2
686340158471. 3
686340158472. 4

Question Number : 19 Question Id : 68634040123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340158473. 1
686340158474. 2
686340158475. 3
686340158476. 4



Question Number : 19 Question Id : 68634040123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158473. 1
686340158474.2
686340158475.3
686340158476. 4

Question Number : 20 Question Id : 68634040124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158477. 1
686340158478. 2
686340158479. 3
686340158480. 4

Question Number : 20 Question Id : 68634040124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158477. 1
686340158478. 2
686340158479. 3
686340158480. 4

Question Number : 21 Question Id : 68634040125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340158481.
686340158482.
686340158483.
686340158484.
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Question Number : 21 Question Id : 68634040125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340158481. 1
686340158482. 2
686340158483.3
686340158484. 4

Question Number : 22 Question Id : 68634040126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340158486. 2
686340158487. 3
686340158488. 4

Question Number : 22 Question Id : 68634040126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-I. C-III. D-II

ofo]w[x

| B

AL B-IV, C-1L DAII
3. A-IV. B-IIL, C-1, D-II
4. A-IV. B-1II. C-II. D-I

Options :

686340158485. 1
686340158486. 2
686340158487. 3
686340158488. 4

Question Number : 23 Question Id : 68634040127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (Sl fb alTg H HIRd 1 AP &) Ha4 Usd Sd 3R Bl 141 10
1. 24 SFGRI 1950 Bl sAREIG 5
2. 24 GHaR] 1950 FI fdeelt
3. 26 feTTaR 1942 B Hadar d
4. 27 fGEIaR 1911 DI Hadar 4

Options :

686340158489. 1
686340158490. 2
686340158491. 3
686340158492. 4

Question Number : 23 Question Id : 68634040127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST (Sl b STe H 1R W1 AP &) Ha9 Usd Ha SR Sel 11 112
1. 24 SR 1950 Bl SAREG H
2. 24 SaRt 1950 Bl foeedi
3. 26 3R 1942 B Herp<1
4. 27 [SUmR 1911 B Dl §

Options :

686340158489. 1
686340158490. 2
686340158491. 3
686340158492 4

Question Number : 24 Question Id : 68634040128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy RIS

YT 1 : e e & T0g 916 Aécacd YRd & ey Ul

FUA I : FIgs AR Tl H 6F aTd HRAG A1 [A818 1946 &1 HRUIIGW S50 Adl & YR Fifaa]
eRI IRHR & favg faar a1 fagie o1

IWRIE BYUF & Hdid H, Aid 14U 70 fadbedl I 9 9g! ) & 984 B

1. BRI IA 9T 8
2. HYAI R I A 3T

HUT I T T, AT BT S &

)

L]

4 PYTI IO e, AfpTRYT I T ©

Options :

686340158493. 1
686340158494. 2
686340158495. 3
686340158496. 4

Question Number : 24 Question Id : 68634040128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sy RIS

YT 1 - e T & Iy @S Adcaed YRd & aigay Ul

FUA 11 : Fia5 R Tl H g ardd YR A1 [A818 1946 1 HRUIIEW 2850 Adl & YR Aifds!
SR ISR & favg fasar a1 fasie uil

IWRIE HYF & D H, Aid fGU 70 fadbedl I 9 Ig IR & 944 B

1. PYT I AR IS 9 &
YT AR S ST T

HYTI A . AfpT pYT I A ©

[ ]

L&)

HYTI T . dfpT U I g

H

Options :

686340158493. 1
686340158494. 2
686340158495. 3
686340158496. 4

Question Number : 25 Question Id : 68634040129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ugp s 113 SIR SR <l 7 urdt o areft gl

1. ot

2. HE- gHGIES
3. BIEgIor
S

Options :

686340158497. 1

686340158498. 2

686340158499. 3
686340158500. 4

)

Question Number : 25 Question Id : 68634040129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UIplad 19 SR I < H Ul 9 arett 9 gl
1. e
3. BIEgIeH
1. g
Options :
686340158497. 1
686340158498. 2

686340158499. 3
686340158500. 4

[ ]

Part B: Medical Laboratory Technology

Section Id : 686340790
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401318
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634040130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Germ cells develops from:-

1. Yolk Sac

-

2. Surface ectoderm
3. Coelomic endoderm
4. Trophoblastic Layer

Options :

686340158501. 1
686340158502. 2
686340158503. 3
686340158504. 4



Question Number : 26 Question Id : 68634040130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S SIRPTY [ApRa g & -
1. Of® S g
. g¥Tg S |
3. WiE! Sfagd g

4. Uldp SRS IRd 9

| B

Options :

686340158501. 1
686340158502. 2
686340158503. 3
686340158504. 4

Question Number : 27 Question Id : 68634040131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Weight of adrenal gland 1s:

1.4 gram

(]

. 8 gram
3. 10 gram
4. 15 gram

Options :

686340158505. 1
686340158506. 2
686340158507. 3
686340158508. 4

Question Number : 27 Question Id : 68634040131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3ifgas I FTUR AT |

1.49MH

| 5

.8 UM
3. 10 YH
4. 15 91H
Options :
686340158505. 1
686340158506. 2

686340158507. 3
686340158508. 4

Question Number : 28 Question Id : 68634040132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Muller muscle 1s supplied by which Nerve.

1. Facial Nerve

| ]

. Sympathetic Nerve

3. Trigeminal Nerve

ke

. Vagus Nerve
Options :
686340158509. 1
686340158510. 2

686340158511. 3
686340158512. 4

Question Number : 28 Question Id : 68634040132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TeR Uit 1 g dfet 9 emgfd shdl © -
1. T dfFeT
3. gt dfeT
4. O dfAdT

Options :
686340158509. 1

| S



686340158510. 2
686340158511. 3
686340158512. 4

Question Number : 29 Question Id : 68634040133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Base of the Heart is formed by.

1. Right ventricle

-2

. Right Atrium
3. Left Afrium

4, Left Ventricle

Options :

686340158513. 1
686340158514. 2
686340158515. 3
686340158516. 4

Question Number : 29 Question Id : 68634040133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

530 BT YR YT fFad §9a1 e -
e e g
2. QMU HIfdg 9
3. 9 U Hfeie g
4. 9 AaU g

ot

)

Options :

686340158513. 1
686340158514. 2
686340158515. 3
686340158516. 4

Question Number : 30 Question Id : 68634040134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mean deviation is minimum when deviations are taken from.

1. Mean

2

. Mode
3. Median

4. Zero

Options :

686340158517. 1
686340158518. 2
686340158519. 3
686340158520. 4

Question Number : 30 Question Id : 68634040134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1en faae Tad giaT 7. 91 fame fomn o &
1. T (HF) |
2,789
e (fafsg) 9
4. R4
Options :
686340158517. 1
686340158518. 2

686340158519. 3
686340158520. 4

L]

Question Number : 31 Question Id : 68634040135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pictograms are shown by.

1. Dots

-2

. Cireles
3. Lines
4, Pictures

Options :
686340158521. 1



686340158522. 2
686340158523. 3
686340158524 4

Question Number : 31 Question Id : 68634040135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foeeTars o foad uaiid foar smarg -

1 Rigei @
2. T
3.3@0e3 8
4. AT g
Options :
686340158521. 1
686340158522. 2

686340158523. 3
686340158524. 4

Question Number : 32 Question Id : 68634040136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The median of the variable values 11.7. 6.9, 12. 15. 19

{ S8
o
A

LN}
—
b

Options :

686340158525. 1
686340158526. 2
686340158527. 3
686340158528. 4

Question Number : 32 Question Id : 68634040136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feR IM1 11.7. 6.9, 12. 15, 10 BT A/ (HIfST) B -

1.19

|
=t
wn

4. 11

Options :

686340158525. 1
686340158526. 2
686340158527. 3
686340158528. 4

Question Number : 33 Question Id : 68634040137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Anticodons are present on.

1.t RNA

2

.m BNA

J.rRNA

e

. Coding strand of DNA

Options :

686340158529. 1
686340158530. 2
686340158531. 3
686340158532. 4

Question Number : 33 Question Id : 68634040137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ucleprs el Siftersl o ur wid &
RTT

—

2. THSREAY
3. MR IRTAT
4. 31 T U B DIST IS

Options :
686340158529. 1



686340158530. 2
686340158531. 3
686340158532. 4

Question Number : 34 Question Id : 68634040138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not invelved in eukaryotic translation.
1. Ribosome
2. Spliceosome
3.mEBNA
4. tRNA
Options :
686340158533. 1
686340158534. 2

686340158535. 3
686340158536. 4

Question Number : 34 Question Id : 68634040138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafarad o 9 gHme =] R | Siffid el s |
1. EEH
SIS
3.UHSRUAY

| S

4.3 IRTAT

Options :

686340158533. 1
686340158534. 2
686340158535. 3
686340158536. 4

Question Number : 35 Question Id : 68634040139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The antigen binding site of an Antibody 1s present.

1. At the constant region

2

. At the c-terminal
3. At the variable region
4. Between the constant and variable region

Options :

686340158537. 1
686340158538. 2
686340158539. 3
686340158540. 4

Question Number : 35 Question Id : 68634040139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et tdtarel o1 Ui dUTaRI Wd SUfd eidl o
1. Rraad

2. c- ST W

3. giadi &2 F

4. PR AR IRadf S = d

Options :

686340158537. 1
686340158538. 2
686340158539. 3
686340158540. 4

]

Question Number : 36 Question Id : 68634040140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Protein that helps other proteins to fold correctly is.

1. Chaperone

2. proteasome

Lad

. Ubiquitin
4. Desmosome

Options :
686340158541. 1



686340158542. 2
686340158543. 3
686340158544. 4

Question Number : 36 Question Id : 68634040140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gg WicH off 3 Ui &1 Udl adld O BifcsT (@) F3- & Sedl dxdl 6. 98 § -
1. 9RH
3. gfafsie
4. SHEH
Options :
686340158541. 1
686340158542, 2

686340158543. 3
686340158544. 4

[ ]

Question Number : 37 Question Id : 68634040141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Normal Plasma Osmolality (in mOsm/kg) 1s:-

1. 100-125

2
-
=
5
{ o]
{ ]
n

Options :

686340158545. 1
686340158546. 2
686340158547. 3
686340158548. 4

Question Number : 37 Question Id : 68634040141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TFH ToH RERUEA! (mOsm/Ke) 5 8l @ -

1. 100-125

| B

. 200-225

4. 300-325

Options :

686340158545. 1
686340158546. 2
686340158547. 3
686340158548. 4

Question Number : 38 Question Id : 68634040142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Severe HTN (Hypertension) cut off 1s.

1. <120/ <80

J

<130 /<85
3.<160/ <100
4.=180/=110
Options :
686340158549. 1
686340158550. 2

686340158551.3
686340158552. 4

Question Number : 38 Question Id : 68634040142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SU HTN (B5TRCY) 1 & ATHE B & -

1.<<120 /<80

| B

= 130 /<85
3.=160 /<100
4.=180/=110
Options :

686340158549. 1
686340158550. 2



686340158551. 3
686340158552. 4

Question Number : 39 Question Id : 68634040143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Trachea iz also called the,

1. Lungs

[

. Windpipe
3. Diaphragm
4. Bronchus
Options :
686340158553. 1
686340158554. 2

686340158555. 3
686340158556. 4

Question Number : 39 Question Id : 68634040143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
efar &1 Hided g
1. g
YT

3. SENRH

| B

4. FlPY

Options :

686340158553. 1
686340158554. 2
686340158555. 3
686340158556. 4

Question Number : 40 Question Id : 68634040144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Milk ejection is facilitated by:

1. Prolactin

2

. Oxytocin

L]

. Growth Hormone

e

JACTH
Options :

686340158557. 1
686340158558. 2

686340158559. 3
686340158560. 4

Question Number : 40 Question Id : 68634040144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% FEUUGH Eldl & -
1. Uidifde gR1
. I gRI

gl g R

[ ]

L]

4. ACTH gl

Options :

686340158557 1
686340158558. 2
686340158559. 3
686340158560. 4

Question Number : 41 Question Id : 68634040145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the formula of absolute neutrophil count with the help of DLC and TLC

1. DLC x Neutrophil%
100

2. DLC x Neutrophil%
1000

3. TLC x Neutrophil%
100

4. TLC x Neutrophil%
1000

Options :

686340158561. 1
686340158562. 2
686340158563. 3
686340158564. 4

Question Number : 41 Question Id : 68634040145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DLC 3R TLC ! Fgral 3 gul Lelfthd B3 31 I T &

1. DLC x Neutrophil%
100

2. DLC x Neutrophil%
1000

3. TLC x Neutrophil%
100

4. TLC x Neutrophil%
1000

Options :

686340158561. 1
686340158562. 2
686340158563. 3
686340158564. 4

Question Number : 42 Question Id : 68634040146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EDTA solution is prepared by dissolving ..... of EDTA in 100 ml distilled water

1.5 gm

-2

10 gm
3.158m
4,20 gm

Options :

686340158565. 1
686340158566. 2
686340158567. 3
686340158568. 4

Question Number : 42 Question Id : 68634040146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EDTA e84 &1 100m1 3yd 5l § EDTA e S/ &1dl &:

1.5 UH

|

. 10 9TH
3. 15914
4, 20 9TH
Options :
686340158565. 1
686340158566. 2

686340158567. 3
686340158568. 4

Question Number : 43 Question Id : 68634040147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Clothing factor I, V. VIII. XIIT come under which group.

1. Fibrinogen group

]

. Thrombin group
3. Prothrombin group
4. Contact group

Options :
686340158569. 1



686340158570. 2
686340158571. 3
686340158572. 4

Question Number : 43 Question Id : 68634040147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W BRS (FcT Baex) L V. VIL XIII {69 THg 8 31d 6 -

1. BT THg
2. difreT Tg

3. Al 98
4, THd 98

Options :

686340158569. 1
686340158570. 2
686340158571. 3
686340158572. 4

Question Number : 44 Question Id : 68634040148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SERUM CALCIUM [Ca’ "] Normal Values in Adults 1s:

1.7.9-8.2 mg /dL

| ]

.6.2-7.2 mg /dL

3.8.8-10.7 mg /dL
4. 8.4-10.7 mg /dL

Options :

686340158573. 1
686340158574. 2
686340158575. 3
686340158576. 4

Question Number : 44 Question Id : 68634040148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UED] E URA By (Ca ) & I A §

1.7.998.2 mg / dL
2.62872mg/dL
3.8.8 9 10.7 mg/dL
4.84910.7mg/dL

Options :

686340158573. 1

686340158574. 2

686340158575. 3
686340158576. 4

Question Number : 45 Question Id : 68634040149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which vitamins is associated with Carboxylation reactions.
1. Thiamine
2. Riboflavin V
3. Biotin
4. Folic Acid
Options :
686340158577. 1
686340158578. 2

686340158579. 3
686340158580. 4

Question Number : 45 Question Id : 68634040149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 91 et Paiiaysdieo dfifeasi € dag sidi &
1, Yraf=
IR RY
3. Srgifed
4. WIfCidh 3

Options :
686340158577. 1

| B



686340158578. 2
686340158579. 3
686340158580. 4

Question Number : 46 Question Id : 68634040150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an Omega-3 fatty acid?

1. Linoleic acid

| ]

. m-Linolenic acid
3. Oleic acid

4. Arachidonic acid

Options :

686340158581. 1
686340158582. 2
686340158583. 3
686340158584. 4

Question Number : 46 Question Id : 68634040150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeRad & 9 oI 91 S{HT.3 59 31 82
femiferee e
2. oc- TerIfeTe e 3
3. 3fifeTue 3
4. Wi s
Options :
686340158581. 1
686340158582. 2

686340158583. 3
686340158584. 4

—

o

Question Number : 47 Question Id : 68634040151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which vitamin can be synthesized from tryptophan.

1. Niacin

J

. Riboflavin
3. Cobalamin

4. Folie acid

Options :

686340158585. 1
686340158586. 2
686340158587. 3
686340158588. 4

Question Number : 47 Question Id : 68634040151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
for faerfe o1 Seamur fRpre I forar o 9@dr &

1. Fanfas
3. B
4. Wifcrd 3

Options :

686340158585. 1

686340158586. 2

686340158587.3
686340158588. 4

|

Question Number : 48 Question Id : 68634040152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Water soluble form of vitamin K 1s.

—

. Phylloquinone

-

2. Menaquinone
3. Menadione
4. Primidone
Options :

686340158589. 1
686340158590. 2



686340158591. 3
686340158592. 4

Question Number : 48 Question Id : 68634040152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[eTitq K &1 9d 8 go-Rid 90 (BiH) § :

1. foetfed—

AT A
3. HIfEaA
4. UIgHISH

Options :

686340158589. 1

686340158590. 2

686340158591. 3
686340158592. 4

[

Question Number : 49 Question Id : 68634040153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct with regard to transposition in bacteria.

1. Transposition can occur from plasmid to genomic DNA

| S]

. Transposition can occur from as plasmid to another plasmid
3. In transposition DNA sequence cannot jump from one site to another in the genome of a cell
4. Transposable elements contain genes encoding resistance to antibiotics

Options :

686340158593. 1
686340158594. 2
686340158595. 3
686340158596. 4

Question Number : 49 Question Id : 68634040153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sitarupsi & errdeier (geiaron & de 8§ Fufafed 8 @ o1F w sy w8 T8l 82
1. ST WS 3 dHH DNA T Bl gadi ©
2. THUISINH U WiETs 4 g9 Wies O 5l 9adl ¢
3. grEUISiEE o (63l ST & SiHE § DNA 3 HH U &Ud U g8 U D& $R el ofl Jobdl §
4, ZrEUIGE UdH ey (Uafiadiy dayd UEamiiea & ol uiiRiudl i pealdd o3 ard o9 sid ¢

Options :

686340158593. 1
686340158594. 2
686340158595. 3
686340158596. 4

Question Number : 50 Question Id : 68634040154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Bartonella are tiny gram negative bacteria these are usually transmitted by:
1. Arthropods
2. Rats
3. Birds
4. Human beings
Options :
686340158597. 1
686340158598. 2

686340158599. 3
686340158600. 4

Question Number : 50 Question Id : 68634040154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS & U9 STe! SiaTv] ¢ | ! HaRul WH: Bidl 6 ¢
1. 3OS E / Fiare Sffaf 9
2. 981 g
3. °iéar g
4. 0

Options :




686340158597. 1
686340158598. 2
686340158599. 3
686340158600. 4

Question Number : 51 Question Id : 68634040155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tube Aggulutination 1s not employed for the Serological diagnosis of:

1. Enteric fever

J

. Brucellosis
3. Thypus fever

4, Cancer

Options :

686340158601. 1
686340158602. 2
686340158603. 3
686340158604. 4

Question Number : 51 Question Id : 68634040155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oll 3TN (JE W) Bl I & gty fem & fow =2t g sman g1

oy

1. 3F G / Ve BiR
3. TIE%Y SaX
4. HI

Options :

686340158601. 1
686340158602. 2
686340158603. 3
686340158604. 4

[ ]

Question Number : 52 Question Id : 68634040156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which test 13 done to diagnose Rickettsial Infection.

1. Widal test

J

. Weil-Felix test
3, ASO test
4. CRP test
Options :
686340158605. 1
686340158606. 2

686340158607. 3
686340158608. 4

Question Number : 52 Question Id : 68634040156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fRerefimrs v & 3 & 1o D19 |1 uRigvl i1 S1ar 8
1. fasTer dfarm
. dia-thferas gdiequn

3. ASO TI&m

[ )

4. CRP U140

Options :

686340158605. 1
686340158606. 2
686340158607. 3
686340158608. 4

Question Number : 53 Question Id : 68634040157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

40% formaldehyde 1is equal to % of formalin

1.25%

[ ]
[
e
2
o=

4. 100%

Options :
686340158609. 1



686340158610. 2
686340158611. 3
686340158612. 4

Question Number : 53 Question Id : 68634040157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

40 % BIHTEEES % HIHdH & RE gidl & -

| o]
L
=
(=]
&

4. 100%

Options :

686340158609. 1
686340158610. 2
686340158611.3
686340158612. 4

Question Number : 54 Question Id : 68634040158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frozen section is used to demonstrate inelusion.
1. Secretory granules

2. Glycogen

[F¥]

. Lipid
4. Pigments

Options :

686340158613. 1
686340158614. 2
686340158615. 3
686340158616. 4

Question Number : 54 Question Id : 68634040158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



femeiiferd (Iol) Ya=m &1 SughT Tl o vefid $ & ol o S e
1. TATGIH

RGIEEIEE

[ ]

3. fafos
4. GUfH

Options :

686340158613. 1
686340158614. 2
686340158615. 3
686340158616. 4

Question Number : 55 Question Id : 68634040159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Iz having Maximum Molecular Weight.

1. 1gG

-
&
2

4.1gA

Options :

686340158617. 1
686340158618. 2
686340158619. 3
686340158620. 4

Question Number : 55 Question Id : 68634040159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P ey MR ATl I © -

1. 1gG

12
e
=7
=



Options :

686340158617. 1
686340158618. 2
686340158619. 3
686340158620. 4

Question Number : 56 Question Id : 68634040160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In klinefelter syndrome chromosome no is.

1. 48 (XXXY)

[

47 (XXY)
3. 48 (XXYY)
4. 46 (XY)

Options :

686340158621. 1
686340158622. 2
686340158623. 3
686340158624. 4

Question Number : 56 Question Id : 68634040160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T p e 50 T TUREE &1 T 8l o:

1. 48 (XXXY)

| B

.47 (XXY)

T

.48 (XXYY)
4. 46 (XY)

Options :

686340158621. 1
686340158622. 2
686340158623. 3
686340158624. 4

Question Number : 57 Question Id : 68634040161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Shortest chromosome i3

1. Clromosome 1

| §)

. Chromosome 13
3. Chromosome 21
4. Chromosome 22

Options :

686340158625. 1

686340158626. 2

686340158627. 3
686340158628. 4

Question Number : 57 Question Id : 68634040161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. U 1
2. 70 A 13
3. 1J0T4A 21
4. T[0A 22
Options :
686340158625. 1
686340158626. 2

686340158627. 3
686340158628. 4

Question Number : 58 Question Id : 68634040162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

mRNA to cDNA is made by.

1. Reverse transcriptase

-2

. DNA Polymerase

LN

. RNA Polymerase

=y

. DNA Ligase

Options :
686340158629. 1



686340158630. 2
686340158631. 3
686340158632. 4

Question Number : 58 Question Id : 68634040162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
mRNA ¥ cDNA &! §4141 SI1d1 § -

. DNA U §RT

3. RNA UG &4

4. DNA S5 §RI

Options :

686340158629. 1
686340158630. 2
686340158631. 3
686340158632. 4

—

[ ]

Question Number : 59 Question Id : 68634040163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

First Antibody Prpoduced by newborn.

1. 1gA

!-.-'l
—
(i)
]

4. 1M

Options :

686340158633. 1
686340158634. 2
686340158635. 3
686340158636. 4

Question Number : 59 Question Id : 68634040163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Taoita § FRId 814 arell ugel ieEis! § -
1.IgA

2.1¢ G

Options :

686340158633. 1
686340158634. 2
686340158635. 3
686340158636. 4

Question Number : 60 Question Id : 68634040164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which antibody is present in breast milk.

1. 1gG

b2

IeM

3. IgE

4. IgA
Options :
686340158637. 1
686340158638. 2

686340158639. 3
686340158640. 4

Question Number : 60 Question Id : 68634040164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Oi & w4 gy d i Il USiEIS! uTg Wil © ¢

1.1¢G

Options :
686340158637. 1



686340158638. 2
686340158639. 3
686340158640. 4

Question Number : 61 Question Id : 68634040165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
IgM is.
1. Monomer
2. Dimer

3. Pentamer

4. Tetramer

Options :

686340158641. 1
686340158642. 2
686340158643. 3
686340158644. 4

Question Number : 61 Question Id : 68634040165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IgMT:
1. AFR
2. 8IgR
3. IR
4.2ZIR

Options :

686340158641. 1
686340158642. 2
686340158643. 3
686340158644. 4

Question Number : 62 Question Id : 68634040166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Immune Complex hypersensitivity is which type of Hyper sensitivity.

1. Type-I

2

. Type-II

L]

. Type-III

i

. Type-IV

Options :

686340158645. 1
686340158646. 2
686340158647. 3
686340158648. 4

Question Number : 62 Question Id : 68634040166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iR e S AfoigeTsiadar @ERAfREe) g neR @ sfouide<iear g .
1.<lg9-1

)

2. €Y -1I
3.CEY- 11
4.CEY -1V

Options :

686340158645. 1
686340158646. 2
686340158647. 3
686340158648. 4

Question Number : 63 Question Id : 68634040167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled ag Reason B
Assertion A: Natural immunity of an animal is also known as acquired immunity

Reason R: Molecular probe can be used for both basic and applied studies in the field of molecular biology
and biotechnology

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true and R is NOT the correct explanation of A
3. A s true but R 1s false

4. A is true but R 1s true

Options :

686340158649. 1
686340158650. 2
686340158651. 3
686340158652. 4

Question Number : 63 Question Id : 68634040167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iy A: 5 o B vofas uieren &1 Sl ufer F Fea €

b R : (U] Gilg 91 SR ofd Wi & &7 3 Oifae SR sFvged sitgad & o sfias e
[@TgeR Wie) &1 SUa g1 o 9adl g |

IYad Pl b YT U, [T 7Y [dbed § I Wl SR &1 99 HIL:
1. A SR R &HH 6l € SRR, A D] Hel AR 3

A SRR EFMFE € AR R A D] 98l ARAT T8 §

ATAE PR SWA T

4 AITTCAPTIRIATE

-2

[F5]

Options :

686340158649. 1
686340158650. 2
686340158651. 3
686340158652. 4

Question Number : 64 Question Id : 68634040168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 18 labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Exchange of gases between blood and lungs is internal respiration
Reason R: Exchange of gases between blood and cells 15 internal respiration

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A1s true but R 1s false

4. A 1s true but R 1s true

Options :

686340158653. 1
686340158654. 2
686340158655. 3
686340158656. 4

Question Number : 64 Question Id : 68634040168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 T T AU U B : U HIUSYH (Assertion A) P F9 T [RIT § 1 GERT 3HP DRI (Reason R) &
FUH .

i A: el ok TR & & 1= &1 fafmg s 459 2

BRI R: TR AR Fifw1i F = 7= o1 g o 45 &

IR PUHI P Ml 1. [4U T [dhedi T 9 5l 30 &1 99 DI,
1. A 3R R G U6l & 3R R. A P! Ho| AR &

[

. A IR R EIF1 U8 § SIRR. A T Tl oI Tol &
ATIeUfEIR 3T ®

[F¥]

ANTIEAGIRIT

e

Options :

686340158653. 1
686340158654. 2
686340158655. 3
686340158656. 4



Question Number : 65 Question Id : 68634040169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Upto the 3rd month of the intrauterine life erythropoiesis oceur in the mesoderm of yolk sac

Reason R: Between the 3rd month and 5th month of mtrauterme life erythropoiesis oceurs in the liver and
spleen, this stage is called the hepatic stage of erythro poiesis

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 13 the correct explanation of A

2. Both A and R are true and R i1s NOT the correct explanation of A

3. Aistrue but B is false

4. A is true but R is true

Options :

686340158657. 1
686340158658. 2
686340158659. 3
686340158660. 4

Question Number : 65 Question Id : 68634040169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A9 T FUT AU TU E : U HIUSYH (Assertion A) P F9 T [RId § I GERT 3HP DRI (Reason R) &
FUH .

gﬁwm.ﬁ: 3{dt: THTR SitaH & IR T8 a9 Ulde BIY & A9l O SR (TS H) T a0 SRl gidl
|

DR R:3{d: UL Siia= o dI92 SR Uied Hel- & di, 0] S [o6aR (Pd) SR SH (Siien §
Il . T 2T I Sf 31 gdpaid ARl Heard ¢

IR Bl & 1D 4. 3y 70 fasedi T 3 w8l SR &1 904 Biforu:
1LARREA TSI SRR AT Gl RS &

[

_A SRR & Ul 8 3R R, A1 g A 751 ©
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Options :

686340158657. 1
686340158658. 2
686340158659. 3
686340158660. 4

Lad

e

Question Number : 66 Question Id : 68634040170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Systemic Anatomy 1s the branch of gross Anatomy

Reason R: Regional Anatomy deals with any part or region of the body

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[ )

.Both A and R are true and R 1s NOT the correct explanation of A
3. A s true but R is false

4. A is true but R 1s true

Options :

686340158661. 1
686340158662. 2
686340158663 3
686340158664. 4



Question Number : 66 Question Id : 68634040170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 T T AU U B : U HIUSYH (Assertion A) P F9 T [RIT § 1 GERT 3HP DRI (Reason R) &
FUH .

ATy A: Sfe® RN (Rrefie wedh) 9o IRR 3" e 3 0E IR g
HRUR: 810 IRR (o0 ) 3196y IR & B8 ymar aa g gl
IR PUHI P Ml 1. [4U T [dhedi T 9 5l 30 &1 99 DI,

1. A 3R R G U6l & 3R R. A P! Ho| AR &

. A IR R EIF1 U8 § SIRR. A T Tl oI Tol &
ATS T AfFIR IS TR R
AT TR s APTIR TR

Options :

686340158661. 1
686340158662. 2
686340158663. 3
686340158664. 4

[

[F¥]
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Question Number : 67 Question Id : 68634040171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: Monopan balances are electronically operated and work on the principle of substitution of
weights

Reason R: Hot plate and magnetic stirrer instrument 1s used for the fast mixing of the solutes

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 1z NOT the correct explanation of A

. A s true but R is false

L]

4. A 1s true but R is true



Options :

686340158665. 1
686340158666. 2
686340158667. 3
686340158668. 4

Question Number : 67 Question Id : 68634040171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 g YT U U § : U HUDYT (Assertion A) P =Y H [ARIT & ol GIRI SHP BRUT (Reason R) B
FO0H .

HIY@H YA A: U (TP U4 dTal) gaTd saide e =4 3 Hferd gidl § 3R YR & Jiawih— & Risid
R TG Bl &

WR:E’?@E 3R e Reer (daa fadise) 421 &1 Iuan facdl & diad 4 faf%E o & fau
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1. A SRR G 96l € SR R. A D Hel A &

[
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ATSEAPIR ISR §
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Options :

686340158665. 1
686340158666. 2
686340158667. 3
686340158668. 4

Lad

Question Number : 68 Question Id : 68634040172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Moisture is necessary for the growth of bacteria since the major potion of the cells consist of
water

Reason R: Bacill are gpiral like bacteria about 0.5 to 1.0 mm in diameter

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ B

. Both A and R are true and R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is true but R is true

Options :

686340158669. 1
686340158670. 2
686340158671. 3
686340158672. 4

Question Number : 68 Question Id : 68634040172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP T FUTRU U S : U HIUSYH (Assertion A) P F9 H [ARGd § I GERT 3HP DRI (Reason R)
FUH .
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Options :

686340158669. 1
686340158670. 2
686340158671. 3
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686340158672. 4

Question Number : 69 Question Id : 68634040173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason B

Assertion A: In incision biopsy only potion of the lesion is sampled and this procedure is strictly used for
diagrostic purpose

Reason R: Microcopie study of individual cell in a smear is called histology
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ B

. Both A and R are true and R 18 NOT the correct explanation of A

A s true but R is false

L]

4. A is true but R is tiue

Options :

686340158673. 1
686340158674. 2
686340158675. 3
686340158676. 4

Question Number : 69 Question Id : 68634040173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP T FUT AU U E : U HIUSYH (Assertion A) P ¥ T IR & I GIRT 3HP DRI (Reason R)
FUH .

TUDYT A: SIS/ IR T B S 1§ & g/ oo & P ge Ui &1 991 (S0 foar o g
R Ufgha &1 Iugi et 1l & forg favan ofrar &

PRI R: dgfdich I o1 TR/ icid § YeHaxig s fgxciarsll / sifde! eearmdi gl
Sd B! & AT 3, U T faewed] 8 I 9ol IR &1 90 Sior
1. A 3R R &IF1 961 € 3R R. A P el UREn §

2. A SRR EHT I8l € 3R R, A 1 Ut sgrem A8l

3

AT AR R OGS TR
4 AT TS e AP R TSI B

Options :

686340158673. 1
686340158674. 2
686340158675. 3
686340158676. 4

Question Number : 70 Question Id : 68634040174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statements:

Statement I: The red cell sedimentation is decreased at higher temperature

Statement II: The red cell sedimentation is increased at higher temperature

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I i true but Statement II 15 false

4. Statement I is false but Statement II is true

Options :

686340158677 1
686340158678. 2
686340158679. 3



686340158680. 4

Question Number : 70 Question Id : 68634040174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gipyafeumue .

DY 1. T SHIBT BT SaHET IR aaTH] W HH 81 ol ¢
FYU I1. T BB HT HAUET IR e R &g Fare !
Sudad Pl & el 5, AU T e § 3 98l 3R 1 99 B

. PUTI AR IS 9 &
2. BYT1 R 11 Sl S

3. FYTI 90 e, afeT U 3T ©

4, YT IO . AT pUT I T &

Options :

686340158677. 1
686340158678. 2
686340158679. 3
686340158680. 4

Question Number : 71 Question Id : 68634040175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Read the following statements

Statements I: Collagen stain yellow to orange with Resorcin fuchsin stain
Statements IT: Nuclei stain blue with aniline blue stain

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

)

2. Both Statement [ and Statement II are false

. Statement I is true but Statement II 1s false

5]

4. Statement I is false but Statement II 1s true

Options :
686340158681. 1
686340158682. 2



686340158683. 3
686340158684. 4

Question Number : 71 Question Id : 68634040175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYA 1. PiareA HiRes RERE $iYE sifiRss & 9y did 3 =0 g Sar g
HYA I1: TG & SRS & 1Y e Atdl HIRSS Bl g
SUudad dUHl & el §, f3u T g e T 3 98l 3R &1 99 Bl

| PYTI AR IS 9T

L HYT 1 AR I EHT 3T ©

YT I I T, Al PUT I 3T ©

| ]

[F¥]

4. PYTI ITT . AfpT P I T &

Options :

686340158681. 1
686340158682. 2
686340158683. 3
686340158684. 4

Question Number : 72 Question Id : 68634040176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Read the following statements

Statement I: Oligonucleotide microrays chips are made directly from sequence databases. so that no clones
need to be handed

Statement IT: cDNA microarrays are easy for pro to typing and data analysis

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are true

2. Both Statement [ and Statement II are false
3. Statement I 15 true but Statement II 1s false

4, Statement I 1s false but Statement II 1s true

Options :

686340158685. 1
686340158686. 2
686340158687. 3
686340158688. 4

Question Number : 72 Question Id : 68634040176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gy feumue .

BYA I AP TEs WEd R (e [0 el o1 T sesn Sreey ¥ 41 95l 3. fored
FA! & TR (B3-U%) B TGPl Tl 6l 6

HUF I1: cDNA HISH IS WeleR it iR e TRy (3fws! & fowesm & o e glar g
e S & HATeD 1. U T e 3 3 91 SR &1 901 il

|, YT AR I 9d &

2. PYA 1 AR 11 ST T ©
3. BYT 1A ©. Al DY I S ©
4. FYF 1 3T 2. dfee YT 11 TA ©
Options :
686340158685. 1

686340158686. 2
686340158687. 3



686340158688. 4

Question Number : 73 Question Id : 68634040177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Read the following statements

Statement I: Function of reproductive system is that gonads produce gametes that unite to form a new
organism

Statement IT: Pelvic cavity contain reproductive and excretory tract organs

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I i3 true but Statement II 1s false

4. Statement I is false but Statement II is true

Options :

686340158689. 1
686340158690. 2
686340158691. 3
686340158692. 4

Question Number : 73 Question Id : 68634040177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%aﬁaﬁw%&ﬂq%:
FFafRad Sy i gigu

HYFL: O oF DI DA U § [ o @IFSH) S| B §41d © ol A 81 AU oild & &1 § |

Y 11: J0f 8T & 594 SR Scioid 9d & S gld g

S B! & ATEP 4, U T fawed! & ¥ 981 TR &1 90 Sifor;
1. YA 1 3R 11 5T 9 §

BYF T SR TG A §

HUYT I T T, AT BT I HEA B

[ B

Lad

4. YT AT, AT YT I TA &

Options :

686340158689. 1
686340158690. 2
686340158691. 3
686340158692. 4

Question Number : 74 Question Id : 68634040178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Read the following statements

Statement I: Peritoneal Fluid is clear fluid present in peritoneal cavity
Statement II: Polyuria is the condition when patient passes urine less than 2000 ml i 24 hrs
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement [ and Statement IT are false

3. Statement I is true but Statement II 15 falze

4. Statement I iz false but Statement II is true

Options :

686340158693. 1
686340158694. 2
686340158695. 3



686340158696. 4

Question Number : 74 Question Id : 68634040178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂaaﬁmﬁ—qmé:
Fafafed sy S ufeu

Y 1. Sieiadt ga el 1gr & uran o are FYd ga g

Y 11: U Rar ag Rufa g foed 1l 24 €92 F 2000 m1 9 &9 97 Yaigd SRl gl
S B! & ST 5, [GU T fawed! & ¥ 981 TR &1 90 Sifor

1. PYFI IR 9§

2. BYF 1 3R 11 3T A ©
3, HYT 1 TA §. dfcp PUT 11 3T ©

A, YT IO 8. AT PYF I T &

Options :

686340158693. 1
686340158694. 2
686340158695. 3
686340158696. 4

Question Number : 75 Question Id : 68634040179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Read the following statements

Statement I: Pharyngeal tonsil are found at roof of posterior wall of pharynx

Statement II: Thymus gland produce B cells

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

686340158697. 1
686340158698. 2
686340158699. 3
686340158700. 4

Question Number : 75 Question Id : 68634040179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYT 1. T i o8-t (hRa) o 0y il & g W am oia €1

YA I1: UIgHY Y B- SIS0 F91d1 T
S Sl & ATa® 5. fGU T famed! d I 981 TR 31 90 i
1. PYTI RIS T &

HYF AR IS T B

| ]

YT 1 I &, AfhT YT I 5T &

4. PYTIHII . AT P 1 g B

Options :
686340158697. 1
686340158698. 2



686340158699. 3
686340158700. 4

Question Number : 76 Question Id : 68634040180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Read the following statements

Statement I: Eosinophilic meningoencephalitis is caused by Angiostrongylus cosraricensis
Statement II: River blindness is the name given to disease caused by Onchocerca volvulus

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are true

| §)

. Both Statement [ and Statement II are false

5]

. Statement I is true but Statement II is false
Statement I is false but Statement II 1s true

4. Statement I is false but Statement I is true

Options :

686340158701. 1
686340158702. 2
686340158703. 3
686340158704. 4

Question Number : 76 Question Id : 68634040180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEE 5"4:{%@]_@% :
FU 1 3o AR saRey toge~ay #ieriave grRied g

HYFI1: A DD dieqad gRI 8H AT I B NaR sargs-d 9H G g
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1L BYFIMR A 90§

b

HYT 1 IR IS SR ©

HUT I A B, AT BUT I SEA B

L]

4 FYTI T e AT n g e

Options :

686340158701. 1
686340158702. 2
686340158703. 3
686340158704. 4

Question Number : 77 Question Id : 68634040181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct statements only

A. The antisera should not hemolyze red cells carrying the corresponding antigens

B. Apheresis technique also determine blood volume of patient and donor

C. Anti A serum is obtained from B-type individual since there is a natural occurrence of Anti A agglutinin
In serum

D. The Anti A. Anti-B typing serun is obtained from Ab-type individual
E. Ouly group 'O’ blood will agglutinate with Anti AB

Choose the correct answer from the options given below:
1. A. D.E only
2.B.A. Conly
3.B.D.E only

4.C,D.E only

Options :

686340158705. 1
686340158706. 2
686340158707. 3
686340158708. 4



Question Number : 77 Question Id : 68634040181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
$ad "ol DU DI IHT:

A, BRI &1 G US| &1 g+ B dicil dld Yo BRSBTS 189k 994 Tl &1 diigu|

B. U a1 T 3R a1 & Tad & ad- &1 Ut FuRor st g1

C.ﬁ-A@?ﬁB-W@W@WWW%W@Wﬁ@-AWWW@
g7 a2

D. Uct-A U1 o5ty OR0 &1 AB 159 safaaal § Wi fasa1 o 2|

E. Rt 9711 ‘0’ &1 Uad UeIoH AB ad & 1Y TSy (Tfed) giar 8|

1= fau U fgoedl O ¥ 9a8 Juged ST &l 9 SIfer:
1.$Pad A.D.E
2. A B.A. C
3. PIAB.AE
4.%ad C.D,E

Options :

686340158705. 1
686340158706. 2
686340158707. 3
686340158708. 4

Question Number : 78 Question Id : 68634040182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements only

A Tt is necessary for every laboratory to determine reference ranges for every quantitative test
B. Quality objective are generally based on the laboratory quality policy

C. Iodine mineral 1s used for synthesis of thyroid hormone

D. The conversion of lactic acid to glucose occurs through urea cycle

Choose the correct answer from the options given below:

1. A . Bonly

| B

. C.D only

o

. B. D only
4. A, C only

Options :
686340158709. 1



686340158710. 2
686340158711.3
686340158712. 4

Question Number : 78 Question Id : 68634040182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
$ad "ol HUH DI FHT:

A. %@w%ma q 1aRgS § [ Uie THEEP UREU & U g W mdd I9) 31
[BEIRWICR

B. VTGl 3520 EId: YARTITEl [urd =i 0 SR gid g |

C. YIRS §HI & YU & [T SIS fRe o1 SudiT g1 S €1

D. Tigea 37 B 7S ¥ § =ik ka1 9% & gRI eidl 6

1= f3u U faeedl & O Ued Iugdd ST b1 99 B

1. Had A, B
2.%ad C. D
3.$adB.D
4. HAAA. C

Options :

686340158709. 1
686340158710. 2
686340158711. 3
686340158712. 4

Question Number : 79 Question Id : 68634040183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statements:

A. In 1884 Nicolaier observed the Tetanus bacillus bacteria in water

B. In 1879 Neisser described Gonococcus type of coccei

C. In 1866 a third kingdom of living organism protista was established by Haeckel
D. In 1882 Typhus disease was discovered by Robert Koch

Choose the correct answer from the options given below:

1. A.Donly

J

. C.D only
3.A.Bonly
4. B. C only
Options :
686340158713. 1
686340158714. 2

686340158715.3
686340158716. 4

Question Number : 79 Question Id : 68634040183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, 1884 B IR 4 ol § 2279 afag g &l ¢ Ul

B. 1879 H ARR A 7HIHI G UBR & DIby ol ar[sil &| aiold fagr o

C. 1866 H goltdl & diae sy @) vifeer & god gr1 wuifud faar mar ur)
D. 1882 TG B BT I DI WA i ot

i< feu U faoedl & ¥ 9ad S9gad SR &1 99 BIfoTL:
1. %dd A, D

AU C. D

3. H4d A, B

4. 9aUB. C

| B

Options :

686340158713. 1
686340158714. 2
686340158715. 3
686340158716. 4

Question Number : 80 Question Id : 68634040184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statements only

A. Planewedge type of knives are used for cutting frozen section giants section and ordmary paraffin section

B. Over tightening of blades to the clamp can result in cutting artifact

C. During processing of tissue by manual method excessive exposure of the tissue to low temperature soft
the fissue

D. Unfixed specimen are not used for special staining procedure

Choose the correct answer from the options given below:
1.C,D only
2. B. C only
3.A.Donly

4. A. Bonly

Options :

686340158717. 1
686340158718. 2
686340158719. 3
686340158720. 4

Question Number : 80 Question Id : 68634040184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
$ad Yol HUHI Bl JHT -
A, T 991/ 1E1 DGR GHR & 91531 BT STanT BHIId a2 (1) T5e 9aH SR 9
TRIfth=T (1) S92 &1 FIe & o frar smar 81

B. I8! &l ool U 3@ oo 4 3R Adhde e godl ol

c.m?ﬁﬁmﬁuﬁm%m&waw duHH & o 3iftiee SEHA SHdd Pl g B
Sdr gl
D. RIS (3FthHs) Ufaewl () &1 3udi 68y sifiRss & fol el fbar s g

i< fou U faoetl & ¥ 9ad SUgdd ST &1 94 Hifel;
1.%ddaC, D
2. %dd B, C
3. %G0 A, D
4. Pdd A, B

Options :

686340158717. 1
686340158718.2
686340158719. 3
686340158720. 4



Question Number : 81 Question Id : 68634040185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct statements only

A. Mushroom toxin ®-amanitin inhibits transcription by binding with RNA Polymerase IT

B. Erythromycin binds to the 50s ribosomal subunit and prevent translocation

C. Translation from the mRNA polypeptide code to protein is mediated by lysosome in the Nucleus of the
cells

D. A neutral mutation has harmful or-beneficial effect the organism

Choose the correct answer from the options given below:

1. C,Donly

| S

.D. Aonly
3.A Bonly
4. B. C only
Options :
686340158721. 1
686340158722.2

686340158723. 3
686340158724. 4

Question Number : 81 Question Id : 68634040185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ha Wel DY P AT -

A, YA a9 oc TEFTEH RNA UIRIERS 116 1Y &5 BI9% 2R (S0E) Fi Gid s ad 6 |
B. SRUMERA 505 USENH SUSHR 4 &5 8IdR CIaaibyH (RHIGRT) Hf AFd gl
C. mRNA TIAUPTES SIS 4 UieH 8 SR 31 JORIdl SIS & dam 1 anaay gRIsk 6l
D. 3 IARad- @ oifd IR eINHRS 1 JTATHed® THE el gl
A= 14U 7T {9 el § ¥ 9ad SUgSd SR &1 997 BIfel;
1.$gdC. D
2. %adD. A
3. HAdd A. B

4. HAAB. C

Options :
686340158721. 1
686340158722. 2



686340158723. 3
686340158724. 4

Question Number : 82 Question Id : 68634040186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct statements only

A. Opsonin is a substance capable of enhancing phagocytosis

B. Plasma cell is a terminally differentiated B-cell that secrets antibody

C. Chemokines are high molecular weight proteins that stimulate leukocyte movement
D. Histocompatible means sharing major histocompatiability complex antigen

Choose the correct answer from the options given below:

1. C.D. Aonly

J

.A.B.D only
3.B.C.Donly
4.A.B. Conly

Options :

686340158725. 1

686340158726. 2

686340158727. 3
686340158728. 4

Question Number : 82 Question Id : 68634040186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Hgl B DI IHT:

A. ST U uerd o g iR (uerdo] foban) @3- § wem B
B. WA SRS U Sid® =9 ¥ fufed B-Hi¥e & o u=<taiat & Jifad &t ol

C. PIHPIEA I HUMR P Wi ¢ il 4] (P IEe) B 1A DI Igiud H3d §
D. Sad Sy &1 3 T Sasadrel eIcied U-cleH & Jeiar o
i feu U faoedl O ¥ 9ad SUgad SO &1 99 Bifely;
1.9aa C,D. A
2. HAd A.B.D
3. 9490 B, C.D

4. HAA A, B, C

Options :
686340158725. 1



686340158726. 2
686340158727. 3
686340158728. 4

Question Number : 83 Question Id : 68634040187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Autonomic nervous center is controlled by frontal lobe
B. Friendman's test is done to determine pregnancy

C. Outer covering of heart is called myocardium

D. The eye ball 1s moved by 8 muscles

E. Upper end of stomach is called pyloric end

Choose the correct answer from the options given below:

1.D. E only

2

.B. C only
3.A Bonly
4. A.E only

Options :

686340158729. 1
686340158730. 2
686340158731. 3
686340158732. 4

Question Number : 83 Question Id : 68634040187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, W0 diA®T g &I 34 dadle Ui (Bled ai|) gRI FafEd o arar g
B. Tt UXi&or e &1 (HeiRor s & forg [ siar g |

C. 550 & §83] ATaRUI &1 AEIPIS T (HER) H8d e

D. 3 Tias &1 71fd & URE gRI S B

E. T3 &1 3U RR1 Sefiaiy (usdiiRe v=) dead o

1= f3u U fawetl & 3 998 Suged TR &1 99 ST
1.$dd D, E
2, HAGu B, C
3. hdd A.B
4. BAU A E

Options :



686340158729. 1
686340158730. 2
686340158731.3
686340158732. 4

Question Number : 84 Question Id : 68634040188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Clinical conditgion Immunoglobulin altered
A |Chronic Infection 1. |lncrease in [ghd
B. [Trypanosomiasis IT. Increase in [gG
C. [Laennec's cirrtosis III. [igA, Igm, Iz are decrease
D. [Chronic lymphatic leukemia] IV, |Increase in [gh

Choose the correct answer from the options given below:

1. A-IL. B-II. C-IV, D-III

[ S

CA-IIL B-IL C-IV. D-1
3. A-IV. B-IIL. C-1. D-T1
4. A-III, B-IV. C-I1. D-I

Options :

686340158733. 1
686340158734. 2
686340158735. 3
686340158736. 4

Question Number : 84 Question Id : 68634040188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it 1 1 g1 11 ¥ far S
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R uftad grgHrargfed
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I [bic® gD iadl| IV [l.a H 3E

FafciRad [doedl § O 98 30 &1 99 Bl

1. A-IL. B-1. C-IV. D-III

ofofw]s

[ ]

CA-IIL B-IL C-IV. D-I
3. A-IV, B-1II. C-I. D-II
4. A-IIL B-TIV. C-I1. D-I

Options :

686340158733. 1
686340158734.2
686340158735. 3
686340158736. 4

Question Number : 85 Question Id : 68634040189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A |Fixing 1. |To provide necessary hardness to cut section
B. [Embedding II. |Thin section of tissue are cut by using microtome
C. Microtomy II1. |To preserve the natural state of the tissue
D. Mounting IV, |After sectioning

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I1. D-III

| )

. A-IIL B-1. C-II. D-IV
3. A-IV. B-III. C-L. D-IT
4. A-1. B-IV, C-I1. D-III

Options :

686340158737. 1
686340158738. 2
686340158739. 3
686340158740. 4



Question Number : 85 Question Id : 68634040189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 a1 ¥ e Sifo
g1 T 1
g . ﬁ%@@%ﬁm IS HoRd UaH
B. [GWlET (3id: ®IT)| 1L [Sd® & HogH Ag®icH 4 &I Jid &
C. [ArZspieEt 111 [0 B! Ybidd AT DI GRHIHT D]
D. [ARE=A (3R | 1V, [HeRE $ied & a1g
fafafad faeedi § O 98t SR &1 94 Bifon -

1. A-II. B-IV. C-1. D-IIT

[ ]

CA-IIL B-1. C-1. D-IV
3 A-IV. B-III. C-I. D-II
4. A-L B-IV. C-11. D-III

Options :

686340158737. 1
686340158738. 2
686340158739. 3
686340158740. 4

Question Number : 86 Question Id : 68634040190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II Some of disease which transmitted from animal to man

LISTI LISTII
Disease From

A |Antharax I. |Goat

B. Malta fever II. [Horse

C. |Tetanus 1L [Rat

D. |Plague IV, |Caitle and sheep

Choose the correct answer from the options given below:

1. A-III, B-1I. C-I, D-IV

| B

- A-IL B-III, C-IV. D-I
3. A-IV. B-1. C-II. D-III
4. A-1, B-III. C-II, D-IV

Options :
686340158741. 1



686340158742. 2
686340158743. 3
686340158744. 4

Question Number : 86 Question Id : 68634040190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gat 11 ¥ e Sifo
qal 1 g 11
A, [0 1 [
B. [Hleel =) 1L [=rs
C. [fceg 11 [T
D. [& V. [ 3R 1e
Frafafed faeet & 3 98! Gk &1 98- SIfo

1. A-IIL B-II. C-1. D-IV

| B

CA-ITL BAIILL C-IV, D-I
3. A-IV. B-1. C-II. D-III
4. A-I. B-II., C-II. D-IV

Options :

686340158741. 1
686340158742.2
686340158743. 3
686340158744. 4

Question Number : 87 Question Id : 68634040191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Phytase I. |Delignification
B [Xylanase II. |Gluten complex reduction
C. |Laccase III. [Improve mineral availability
D. |Bromelain IV. [Paper and pulp processing

Choose the correct answer from the options given below:

1. A-I. B-IV. C-1. D-III

| B

CA-TV. BAIILL, C-IT, D-I
3. A-IL B-IV. C-I1I. D-I

4. A-III, B-IV. C-I, D-1I



Options :

686340158745. 1
686340158746. 2
686340158747. 3
686340158748. 4

Question Number : 87 Question Id : 68634040191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 1 T ¥l 11 ¥ e S

il T 11
A [FrEdd 1 [HemwH
B. [STg0d 11 [Fele] DIFCIaR SUTeH
C. [@g&d 111 [l SUcisdl @i ggidl &
D. [@ifis 1V, [BFTS AR @1 W=
fraferad famedl § 9 9e! SR &1 997 Bife -

1. A-I. B-IV. C-II. D-III

| B

CA-IV, B-1IIL C-I1, D-I
3. A-II. B-IV. C-I11. D-T}
4. A-IIL B-IV. C-I. D-II

Options :

686340158745. 1
686340158746. 2
686340158747. 3
686340158748. 4

Question Number : 88 Question Id : 68634040192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

I Found in different members of

Autoantigen : g
same species

Alloantigen II. |Depends on antigenic detenminer
Hetrophile antigen | IIL JA person own self Antigen

v Antigen found in cells tissue of
" |different species

o [of=] »

Antigen specificity

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-IV. D-II

[ ]

AL B-IIL C-III, D-IV
3. A-IL B-II1. C-IV. D-I
4. AL B-1I. C-11. D-IV

Options :

686340158749. 1
686340158750. 2
686340158751. 3
686340158752. 4

Question Number : 88 Question Id : 68634040192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 16T g 11 ¥ e S
Tl 1 JI 1T
A, |3fieE=IoH (@U<Ta) 1. [oe & wiieite & 149 gexi 4 U oildi &
B. [AU= oM (AORUeH) 1L [t e [ A gl @
C [BeimEd daymdl u=iaq) | 1L [oidd & o o<ioi
D. [gtaA fafRmwan 1. |3 w1 @] s 3R SHdeH H Ul o ardd =i
fFrafaied [aeeal § 1 9el G &1 98 SIf

1. A-TIIL. B-1. C-IV. D-II

| B

CA-L B-I1. C-III, D-IV
3. A-II. B-IIL. C-IV. D-I
4. A-III B-1I. C-1, D-IV

Options :

686340158749. 1
686340158750. 2
686340158751. 3
686340158752. 4



Question Number : 89 Question Id : 68634040193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Nucleolus I. |Transport of Macro molecule
Spharerosome | 11, [Break down of fatty acid
Peroxisome III. ENA synthesis
Plasmodesmatal IV |Lipid storage

o ofw[

Choose the correct answer from the options given below:

1. A-IV, B-1II. C-1. D-IT

|

AL B-IV. C-I1, D-1
3. A-L, B-1I. C-III, D-IV
4. A-IV. B-II1. C-II. D-I

Options :

686340158753. 1
686340158754. 2
686340158755. 3
686340158756. 4

Question Number : 89 Question Id : 68634040193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 1 gat 11 ¥ e Sl

g S I
A [dad  feasiad 1 [gears &1 A
B. (B9 1. [aar ol &1 fad s
C. [oe3TegH 11 [RNA HRCH0]
D. [ARAESe V. [[afts YaRu
Fefaiad f[deedi § O gt 3R &1 994 Sifviu -

1. A-IV. B-IIL. C-1. D-II

| B

AL B-IV. C-ITL D-I
3. A-L, B-II. C-III, D-IV
4. A-IV. B-1III. C-I1, D-I
Options :

686340158753. 1
686340158754. 2



686340158755. 3
686340158756. 4

Question Number : 90 Question Id : 68634040194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A. [Dupp I Sul:u:_ellula.r space in the surface tissue of
tonsils
B. [Lubb II. [Fold of pleuron in the middle of lungs
C. |Crypts 1L Sound produce by the semilunar valve of
[Heart
D Mediastinum | IV |A sound produced by the heart muscle

Choose the correct answer from the options given below:

1. A-IV. B-III. C-1. D-II
2. AL B-III. C-1. D-IV
3. AL B-IV. C-I. D-IT
4. A-IIL B-L. C-II. D-IV

Options :

686340158757. 1

686340158758. 2

686340158759. 3
686340158760. 4

Question Number : 90 Question Id : 68634040194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 11 g 11 ¥ e S

= 1 S 1
_Dupp 1. [CIF9d & T9de $Hd® H SUBIRIY @
Lubb 1L [bhe & 59 H TR ®1 Bl / 904

Crypts (foP ) | 111 [658 & 2t dicd 511 340 B4 arell @i
wifenr 4| v [g5a Uzl gR1 3ad gH drdll @i

FafaRad [deedl § 9 98! 3Tk &1 984 Sif -

1. A-IV. B-III. C-1. D-II

=] fel =

| B

AL B-II1, C-1, D-IV
3. A-III. B-IV. C-1. D-I1
4. A-IIL B-1. C-II. D-IV

Options :

686340158757. 1
686340158758.2
686340158759. 3
686340158760. 4

Question Number : 91 Question Id : 68634040195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Instrument LIST II Scientist
A |PHOTOMETER I |Theodor Svedberg
B. MICROSCOPE 11 |Carl friedrich Richard foersten
C. |Analyvtical ultra centrifuge] I11. JAmold O. Beckman
D. |Spectro photometer IV, |Z ACHARIAS JANSEEN

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I1. D-III

| )

. A-L B-III. C-IV, D-II
3. A-I. B-IV, C-11. D-III
4. A-IV. B-11, C-1. D-III

Options :

686340158761. 1
686340158762. 2
686340158763. 3
686340158764. 4



Question Number : 91 Question Id : 68634040195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 gat 11 ¥ e Sifo

I 11
L e
A [PleERR L [farsk waat
B. [AI3® RS 1. [Tl s, s By
C. [a=ciE G Sehiad / afce] YS0gal | 111 [oraies off s
D. [EHEIBICHI IV. [SIohIIaTy S
fFafafad fdeedl § O 98t 3ok &1 904 Bifon -

1. A-IL. B-IV. C-1. D-III

[ ]

- A-L B-III. C-IV, D-II
3. A-L B-IV. C-I1. D-III
4. A-IV. B-1I. C-1. D-III

Options :

686340158761. 1
686340158762. 2
686340158763. 3
686340158764. 4

Question Number : 92 Question Id : 68634040196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following and arrange them in correct sequence for steps.

A. Add serum block

B. Add special block

C. add polymer link

D. Prepare tissue add blocking reagent
E. Add primary Antibody to specimen

Choose the correct answer from the options given below:

1.A,B.CD.E

{ ]

DA E. B.C

Taa

E.B.A.C.D
4. E.D.C.B.A
Options :

686340158765. 1
686340158766. 2



686340158767. 3
686340158768. 4

Question Number : 92 Question Id : 68634040196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafaRad 31 uleu SR 393! HicRe Sad - (SRHIGRIP ) & Hel =Rl § oaleyd By .

A R =@ fHasy

B. a9y sdle faemgu

C. YidliHR feid &l [Hasy

D. 3ad HfHa Sifem 3R st/ saieq sfieHe fHasy
E. W / 7 § Uyl uials! fiengu

A< feu U fao et & ¥ 9ad S9gad SR &1 994 BIfe;

LA B C D E

| B

D.A.E.B.C
3.E.B.A.C.D
4.E.D.C.B.A

Options :

686340158765. 1
686340158766. 2
686340158767. 3
686340158768. 4

Question Number : 93 Question Id : 68634040197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct sequencing of evolution (simplesto complex) is.
A. Bryophytes
B. Angiosperms

C. Ferms
D. Algae

Choose the correct answer from the options given below:

1.ADCB

| B

.C.B.D.A
3.D.A.C.B

4.B.A.D.C



Options :

686340158769. 1
686340158770. 2
686340158771. 3
686340158772. 4

Question Number : 93 Question Id : 68634040197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gieae (e 9 Siicd) &1 9ol SHPH G -
A. SIBIECH
B. UGS (31 afa)
.7
D. Y91

123U 7 fawetl § 9 998 Iugdd TR b1 99 SIS

1.A.D.C.B
2.C.B DA
3.D.A.C.B
4.B.A.D.C

Options :

686340158769. 1

686340158770. 2

686340158771.3
686340158772. 4

Question Number : 94 Question Id : 68634040198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The protocol for carrying out polymerase Chain Reaction involves a number of steps. Arrange in correct order.

A. Denaturation of DNA

B. Isolation of DNA

C. Amealing of primers to DNA

D. Extension of primers

E. Repetition of amplification cycle for 29 more times

Choose the correct answer from the options given below:
i.B,A, C,D,E
2 A B CD,B
3 DABCE

4. D.A.C.B.E

Options :

686340158773. 1
686340158774. 2
686340158775.3
686340158776. 4

Question Number : 94 Question Id : 68634040198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i = NUeeH & Uieisia 5 359 @Ru 9fifad 81 5701 98l $H § agy -
A. DNA &7 fdspfdeo

B. DNA BT JJepRul
C. DNA & T70 UigHRl &1 3fHia
D. ISHR &[G

E. WAl 9 & 20 dR YRR
1= f3u 7 fae el & 3 998 Iugdd STk 1 997 SN

1.B.A.C.D.E

2.A.B.C.D.E
3.D.A.B.C.E
1. D.A.C.B.E

Options :

686340158773. 1
686340158774. 2
686340158775.3
686340158776. 4



Question Number : 95 Question Id : 68634040199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of complexes that transter electrons from one to another in respiratory electron transport
chain is.

A. Cytochrome c oxidase

B. Cytochrome ¢

C. NADH-Q-oxidoreductase
D. Coenzyme Q

Choose the correct answer from the options given below:

i.C,D.AB
2.C,D.B,A
3.D.C.B.A
4.B.C.D.A

Options :

686340158777. 1

686340158778. 2

686340158779.3
686340158780. 4

Question Number : 95 Question Id : 68634040199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT gaC ST 4aal 4 U ¥ gL RF IR soide /=] & RIFEIA $H- dic SIacidd| ol Hal
P T

A TgepiE ¢ Aieiey

B. UIgeihig ¢

C. NADH-Q 3adis! gy
D. PITIEH Q

A< feu U fao et & ¥ 9ad S9gad SR &1 994 BIfe;

HC.DAB

| )

.C,D.B.A
31D C.B.A
4 B.C. DA

Options :
686340158777. 1



686340158778. 2
686340158779. 3
686340158780. 4

Question Number : 96 Question Id : 68634040200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of the event in human female reproductive cycle is.

A. Sudden inerease in the level of LH
B. Growth of corpus luteum

C. Growth of follicle and oogenesis
D. Ovulation

E. Secretion of FSH

Choose the correct answer from the options given below:

1.B.A,D.C,E
2CEB.D.AE
3.A,B.D.E.C
4 E.C.A.D.B

Options :

686340158781. 1

686340158782. 2

686340158783. 3
686340158784. 4

Question Number : 96 Question Id : 68634040200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ofgd 99 9% & g1 #1 98 $U

A LH & &R Y e gig

B. UG GREA DI qG

C. Tifeiied (qfeen) ot gfg 3R sse
D. S

E. FSH & Haul

= feu e faeedl § 9 9&d 39gad 9Tk &1 99 ST

LB, AD.CE

b2

.C.B.D.A.E
3.A,B.D.E.C
4.E.C.A.D.B

Options :

686340158781. 1
686340158782. 2
686340158783. 3
686340158784. 4

Question Number : 97 Question Id : 68634040201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following write correct sequence of urea cyele.

A. Formation of Citrulin

B. Formation of Arginine

C. Formation of Urea

D. Formation of Carbamoyl phosphate
E. Formation of Argininosuccinate

Choose the correct answer from the options given below:

1. E. BB AR

{ ]

B TLALCE
3D AGEDBC
4.E.D.C.B.A

Options :

686340158785. 1
686340158786. 2
686340158787. 3
686340158788. 4



Question Number : 97 Question Id : 68634040201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[FEfiRad o1 9feu 3R gaT 9% & T g H P [Jiau:

A RygiaT o1 a9
B. TSI & §71
C. gRAr &1 &1

D, PI8 180 BIEhe BT GT]

E. Aol gad-e

12 3T T fae el & ¥ 998 Iugdd SO &1 99 BIfe;

1.C,B.D.A.E
2.B,D,A, C,E
3.D.A,E,B.C
4.E,D.C.B,A

Options :

686340158785. 1

686340158786. 2

686340158787. 3
686340158788. 4

Question Number : 98 Question Id : 68634040202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The standard deviation of a set of values will be.

1. Positive when the values are positive

2. Positive when the values are negative

LN}

. Always positive
4. All the above

Options :

686340158789. 1
686340158790. 2
686340158791. 3
686340158792. 4

Question Number : 98 Question Id : 68634040202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl & g &1 B fd=e ghm.

1. TATHD, Sidic G U1 fﬂﬁ%

2. YT, € HF HBUTHS 8ld &
3. T5d gD
4. e H A i udi g

Options :

686340158789. 1
686340158790. 2
686340158791. 3
686340158792 4

Question Number : 99 Question Id : 68634040203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gram positive bacteria stain colour after gram stain

1. voilet

| S]

. green
3. red
4. pink

Options :

686340158793. 1
686340158794. 2
686340158795.3
686340158796. 4

Question Number : 99 Question Id : 68634040203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I TS ST o 11 Bid1 8 W SARSA 918
1, St

[ ]

=2

3.¢ld

4. T[St

Options :



686340158793. 1
686340158794. 2
686340158795.3
686340158796. 4

Question Number : 100 Question Id : 68634040204 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rice water stool is characteristic feature of.
1. Steatorrhea
2. Constipation
3. Bacterial infection
4. Cholera

Options :

686340158797. 1
686340158798. 2
686340158799. 3
686340158800. 4

Question Number : 100 Question Id : 68634040204 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IIad gHT Ha Afaeitme fagdr e
1. Wieliar &t

2. 39194 Bf

3. SIIGT0] o
4. BRI BL

Options :

686340158797. 1
686340158798. 2
686340158799. 3
686340158800. 4



